DRAWN BY

QUANTITIES BY

TRACED BY

ORIGINAL SURVEY PLOTTED BY
PLAN

NOTE BOOK ] ppgiGNED BY

No.

CHECKED BY

1%6// 4//2// ”16”

=
1)

A ”/5”¢ Hole

|

gi 0
\ H:/

s s =17t

ol i
/L“Hi\

Iyl

:VT__ l!l

v = L
2N

|
3%//*2”
o 578” =

ToP

L.
—

2]/2// 2//4//

(typ.)

e

-
|
|
|
I
i
]
|
2k
405"
14"

2 yz 7 2] %6//
(1yp.)

778 7
SIDE

RECYCLED PLASTIC BLOCKOUT (I'YPE )

Strong Post
(PWEOI
(PWEOZ)

/

Offset Block or Blockout

K
g / / {
FBBO3 guardrail bolt

AR

/ with recessed nut

E xploded View

(Rail and washer not shown)

STEEL POST AND BLOCK DETAIL

Reflector Marker (RM-5) - Reflector
Facing Traffic (Mounfed on Guardrail Bolf)

Type III or IV Refroreflective
Sheeting (High Infensity);
Color of Refroreflective
Sheeting shall conform fo

the color of the adjacent
edge line.

= Sot 1lfg" X 2"

Galvanized Steel
(%" Min. Thickness)

J:/FORT WEAVER ROAD/ROAD/TESOREV.dgn

i

REFLECTOR MARKER (RM-5) DETAIL AND TYPICAL INSTALLATION

|

l4l/

&—

778 7

All exterior corners
15" radius

/—-3/4//

hole

RECYCLED POLYETHYLENE

OFFSET BLOCK (TYPE II)

existing ground to 95% compaction.

ELEVATION

TOTAL
SHEETS

FISCAL | SHEET
YEAR NO.

FED. ROAD
DIST. NO.

FEDERAL AID
PROJ. NO.

STATE

HAWAII | HAW. |CMAQ-076-1(9)| 2006 | 36 160

GENERAL NOTES

All hardware, posts and fasteners shall be hof-dip zinc
coated galvanized after fabrication. No punching, drilling or
cutting will be permitted after galvanizing.

Where conditions require, special post lengths in increments
of 6 inches may be specified.

All fasteners, posts, and rail elements (i.e. FBB03, PWEUDI,
RWMO02b, efc.) shall conform to the lafest edition and
amendments of “A Guide fo Standardized Highway Barrier
Rail Hardware”, a report prepared and approved by fhe
AASHTO-AGC-ART BA Joint Cooperative Committee, Subcommittee
On New Highway Materials, Task Force 13 Report. Dimensions
of fastners, posts and rail elements have been converfed from
metric units info their present form.

The Recycled Plastic Block or Offset Block shall be approved
by the Stafe.

All new guardrail systems (system consists of fotal length of
guardrail including both end freatments) shall include the
Additional Paved Area.

After the guardrail posts are installed in the paved area,
the Contractor shall fill/seal around each guardrail post
and all cracks in the paved area caused during the guardrail

[YPICAL GUARDRAIL INSTALLATION

| b Offset Block or Blockout
Cuardrail—s post installation. If required by the inspector/engineer, the
Guardrail Post Contractor shall tamper the paved area around the guardrail
A O post prior to filling/sealing. All costs associated with this
3 === work shall not be paid for separately, but shall be considered
L ! incidental to the various guardrail ifems.
é ° Fill/seal around post 7. When standards for the fill slope area cannof be mef, a sife
(See Nofe No. 6) specific, engineer approved design may be used.
PIAN 8. New A.C. pavement at guardrails shall extend 6 feet longi-
— tudinally beyond tferminal ends.
e Additional 9. Reflector Markers (RM-5) mounted on guardrails shall be
- Paved Shoulder_|_ Paved Area* spaced every 25 feet. RM-5's shall not be installed on
o Terminal Sections. Furnishing and installing of each RM-5
_ A [-0" shall be considered incidental to the adjacent guardrail system.
I
< | 20" Min. GUARDRAIL TYPE DLMENS[?AN
—-—f— - —¥===3 | Grade ¢ Compact i _ —q5ln| 1_gn
< | T At Strong Post W-Beam I-9%"| 16
! (See Note No. 7) Strong Post Rubrail (W-Beam) 2-0" | I'-6"
= Guardrail — Modified or Strong Post Thrie Beam | 2-0" | 2-0"
Post ALC.
Slope Filler , Break Point
,L JI y M JI <— / °0 ]
/ ] T ' 4 o
" i Il ﬂ |
T : Fill Slope
Pav'l. ‘] i I 1%" Min. 2.1 MaX.p
DGS/.gn :L _{: A.C. P avlf., = STATE OF HAWAII
- - Mix No. IV Roun d/'ng ™ _ i DEPARTMHE::_I;IV'V A?(i; E?\ﬁsl\lIgISORTATION
Existing = 4PN |
Prior to installing A.C. Mix. No. 1V, Ground x| Mo ) %
level & remove vegetation and compact N W

g, 02

FORT WEAVER ROAD WIDENING
VICINITY OF AAWA DRIVE TO GEIGER ROAD

Scale: NTS Date: Sepl. 20, 2007
SHEET oRI-I3 OF 39 SHEETS

36




3//

33/8//

2%2// X 2’5//6” ‘
Splice Bolt Slof (typ.)

3/4// X 2y2//

NN

2/_3y2//

s, 25 15° Bend
(optional)

<— Lap in direction of traffic

Post Bolt Slot o) Toles
ost Bolt Slo
i —\ _( fyp.) .
¢ ) o :i# | i\‘\l
N B ——b—o0—o-4D
A I T T T 1 N
PR
V o L C - i,
T'he cross-sectional 3m4lfmalln glbr 4,,! 4' o
~dimensions for this A< <—"t<>f<>1<
| part are fo fit over ETSE ETAL
prt Pz on o [octowron [ T2
PP RWEOZb | 10 Gauge

under part RWMOZa
on the frailing end.

T'he cross-sectional
dimensions for this
part are to fit over
- part RWMOZ2a on the
approach end and |
under part RWMQOZa

lzy//
S 5
i -

'

)

0

/

T

2. x 1" Splice \
Bolt Slot (typ.)

3/4// X Zyzu
Post Bolt S/of——\

® ®
® ®

<—lLap in

® ®
® ! ®

| l l
Y7 gl ”|4’ 1",
20| A

A7

—

direction

of fraffic

_—

DESIGNATOR

BASE METAL
THICKNESS

RWEOia

on the trailing end.

W-BEAM TERMINAL CONNECTOR (RWEOZ2b)

30°

Contour fo fit

over rail element

30"

®

{

®

A

24//

V

%

Shape fo fif
raifl e/emem‘—7\

L3 & &

DATE

The cross-sectional

dimensions for this

o
.
O~

Lap in direction

29 n 1/ v
of traffic k' X 16

Splice Bolt Slof (fyp.)

)

/6//

part are fo fit over
part RWMOZa

BY
TRACED BY
NOTE BOOK | ppgIGNED BY
QUANTITIES BY
___ I CHECKED BY

DRAWN

PLAN

ORIGINAL SURVEY PLOTTED BY

No.

) ®
N
N
y ¥ @&
2%” ! 8[/// ! 7y2// !
i ! =
BASE METAL
DESIGNATOR THICKNESS
RWEO6a | 12 Gauge

W-BEAM END SECTION (BUFFER RWEO6a)

J:/FORT WEAVER ROAD/ROAD/TESIREV.dgn

12 Gauge

W-BEAM END SECTION (FLARED RWEOIa)

30° ®

QO

I\

<« Lap in direction

of fraffic

2%2// ;% / 1/8 7

Splice Bolt Slof

FED. ROAD
DIST. NO.

STATE

FEDERAL AID
PROJ. NO.

FISCAL
YEAR

SHEET
NO.

TOTAL
SHEETS

Shape to fif typ.
rail e/emenf—]\ R
< ) ® @
\r 3
N %
<! e ey
. V
The cross-sectional yal 1 otz ! 1w |
dimensions for this 24" | | 80 2"
part are fo fit over ' 'Varies
parf RWMOZ2a BASE METAL
DESIGNATOR | 71 1ok NESS
RWEO3a 12 Gauge

HAWAIT | HAW. |CMAQ-076-19)| 2006 | 37 | 160
614"R
' 3//
//_6] "t ) |
N | /4 lé- | l J/
30° ol \ T TS TB%”
2 % /" 8 yZ //><7 VZ //i_> 2/_ 6//
T i A o fost oo
P P ! Holes oS’ Bo
_—Z ! s 1/ u
| % o (fyp.)—-/\ Slot <_Z_/49
| ~ N \
= : < ’_;%< \ C,:’\& + |
- | s m | e e 0‘*
' P ® Y oy
| N T | == 3 &
——V N | —® | | NS
Slotted Hol : L 2 IQ S [\XN
ofted Holes o I ; T _ o
29" x 145" | BASE METAL R S i i DON
ke x 1/ | DESIGNATOR | 1 1ok NESS \ < == ==\ oy vy
RTEO2b 10 Gauge (ﬁT o g >l 44" 3,,>__2%2~ x 15"
THRIE-BEAM SECTION (ROUNDED) - 26 | Slofs
(RTE02D) pEsinATOR | BASE METAL
RTEQIb 10 Gauge
THRIE-BEAM
TERMINAL CONNECTOR
(RTEQID)
| |
| I A A
A ¢ ~ R s
Q.
| S S
Contour to fit 0/t 5|5 . 2
~ over RTMO2b S| k&b | )
R IR~ = 3
Q|G S
N AN
& V x
30° f\ b b | V
x Slofted Holes T ETAT
2W" 8’/2»"><7’/2"t>| 28" x 175" DESIGNATOR | 7 1ekNESS
>y RTEO3b ¢
bz - THRIE-BEAM RTEORy | "0 G

W-BEAM END SECTION (ROUNDED RWEO3a)

END SECTION (BUFFER RTEO3D

or RTE04Db)

M.
N U
I

STATE OF HAWAI

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

GUARDRAIL TERMINAL CONNECTORS

AND END SECTIONS

o
LICENSED \ %%
PROFESSIONAL \
ENGINEER = | &
No. 7269-C

4 Ay

Iwan, V2

BY ME

FORT WEAVER ROAD WIDENING

910
§ 9

VICINITY OF AAWA DRIVE TO GEIGER ROAD

Scale: NTS

Date:

Sept. 20, 2007

SHEET No. RI-14 OF

39

SHEETS

37




DATE

BY

DRAWN BY

TRACED BY
NOTE BOOX | ,ggIGNED BY

CHECKED BY

Qu.

PLAN

ORIGINAL SURVEY PLOTTED BY

No.

FED. ROAD STATE FEDERAL AID FISCAL SHEET TOTAL
RWMOZa . " DIST. NO. PROJ. NO. YEAR NO. SHEETS
Offset Block or Blockout VOTE. 1<—4—>| HAWAII | HAW. |CMAQ-076-1(9)| 2006 | 38 | 160
FBBOI . | Al Holes are % Dia. woro T
Splice Bo/z‘s—%z | — -
1 S Shape
—f——— - — 7;{ = === :B— 57 " 3/, %6” N 7/ 5/
FBBO3 ii | ? Y 2% s * ’ |
‘ I l | B < “ s
il € (6 % v D x Uy
. 3% . J‘l’hLJl}” <— l 2 AN ) Mod. Heavy Recess both
2 FBX16a o 0 e / 13 Hex NU?‘—\ sides
Post Bolt “ oer A
osT DO . 3 '
FPWEDZ o b DESIGNATOR | L T —
R FBBOI 1% —
Ground L | X 0 . FBBO? 2" =
Line L ? e ! HO/C fOf F8803 l 7] ]/4 ’%6”
N - - S I e N Ot |V W-Beam
/ & ] ::ef‘ Rubrail | |
PWEO?—— ! GUARDRAIL BOLTS AND RECESSED NUT
Ground 14— /- fround |
Line 1 é ine
ELEVATION —homa |~~~ [y )
‘ I
STRONG POST RUBRAIL r— : s
H
(W-BEAM) GUARDRAIL !
SIDE | | FRONT |
e 6/__3// >|I
W-BEAM STRONG POST (PWEOZ) |
® | ®
6/_3// 6/.3” - !
e Bt == 3/ u " ~ 1
¢ Rail bolt hole ¢ Rail bolt hole | C 7" x 2" 8 i 4 @ | ®
| Post Bolt Slof ¥
8-F BBUI FBBO3 . N S =t
n- Splice Bolts _\,l_ﬂ /- o=
i ' Tl ® gac ®
I:: " g: | I.: ) 7
S
T FBXI6a — - MR MR ¢ \ © | © © @
" " 7] 1 l 1/ n ]
L PWEGZ v “—Ground Line g ¢ W x 1l 2 i _ 9k ﬁ!\@ Splice Bolt FBBOI (Typ.)
—O+5) CD S/Of (typ.) ! |
| B | | ( y L 8y2// >‘|
. , BASE METAL ' ' QI
ELEVATION DESIGNATOR | 7/ v es } 13-6/% .
STRONG POST RUBRAIL (W-BEAM) GUARDRAIL WITH RIWMOZa 2 Gauge
RECYCLED OFFSET BLOCK OR PLASTIC BLOCKOUT 2 SPACE W-BEAM GUARDRAIL (RWMO2a)
e N __T'l T < x ﬁ'x\ ;————- o DEPARTMESIC]\.II:TEO(I)"'F :;:\v:I”SPORTATION
L+ —t SO 4 g\*’L M. 0,9% HIGHWAYS DIVISION
A | — D © > f% STRONG POST RUBRAIL
l %/l " l %~| %’ o) (W-BE AW) GUARDRAIL
(Il threads per in.) THS WORK WS PREPARED BY 1 FORT WEAVER ROAD WIDENING
" HEX BOLT# NUT (FBXI6a) | | s VICINITY OF AAWA DRIVE TO GEIGER ROAD
| | — Scale: NTS Dafe Sept. 20, 2007
| | SHEET No. RI-I50OF SHEETS

38




DATE

BY
TRACED BY

NOTE BOOK | ngiGNED BY
QUANTITIES BY

DRAWN
CHECKED BY

ORIGIN AL SURVEY PLOTTED BY

PLAN

Ne.

J:/FORT WEAVER ROAD/ROAD/MODTHRIE.dgn

r_an , 1_Qu ‘ /A : FED. ROAD | craTE FEDERAL AID FISCAL | SHEET | TOTAL
i‘ 3 ’i 6 '3 | -3 ¢ | DIST. NO. PROJ. NO. YEAR NO. | SHEETS
. 5T I ransition Section l l I NOTES: HAWAIL | HMW. | cmagroTe-19)| 2006 | 39 | 160
: |{°| | E "'__..!L_______l ' __ r 1] I. The work necessary tfo connect guardrail fo concrete end post shall include all
~ /" IR L labor, materials, fools, equipment and incidentals necessary fo complete the work
“—7 -t ] ::__: - 1) o+ Lap in direction of ftraffic | and will not be paid for separafely.
mm=“ L 2. Lap terminal connector and rail element in direction of traffic fo prevent snagging.
! s ——— \_ \ | 2 | & 3. All anchor bolts shall be high strength bolts conforming to the requirements of
) = L RTMO2b . RWTOIb RWMOza 44 L ASTM 325 and Standard Specification, Section 713.04.
| =~ I :
| I | - 4. Anchor bolt length shall be such that a snug fit of the elements and full thread
SE— :: TS s | f//@w@ Finish Grade engagement plus %" (max) is attained.
J , o . 5. "Terminal Connector”, “Transition Section” and thrie beam shall be fabricated
I * Not fo fbe u]:sed ffor fThr/e Beam from 10 gauge steel conforming to the requirements of AASHTO M 180, Type 11,
I * connection tfo structures. Class B.
TRANS[ T[ ON SE C T[ ON 6. “Terminal Connector” and standard spacer, including all anchor bolts, cap PL, nufs
12" | 1Hfg and washers, shall be hot-dip galvanized aftfer fabrication.
o 4[/4//4%// on B /. Cap PL shall be fabricated from ASTM A 36.
g 3%" i ¢ Post Bolt Slot 8. First 250" of guardrail adjoining “Terminal Connector” shall be galvanized steel
3 n / S / i and supports spaced as shown on the detail drawings. This section of rail shall
6” 6” " 3%’ P ol | o {Jf} be placed on tangent to end post or parallel to roadway, unless conditions at site
2V ﬁ\‘ { , —7  post Bolt Slot renders it impossible fo do so. Flare point to be defermined in field.
:,\co NINS , 34 x2 16" | - 9. Double (nest Ist panel) thrie beam elements at all end post connections, except on
— N “‘*‘}:’%"R 134" g highways with one-way traffic pattern, use single thrie beam elements at end post
Y 11T . i i 64 on trailing end only.
el <«4 e phce Bolr Slot ot e WASHER 10. Where double (nested) beam occur, 12" “Back-up Plate” not required.
D | MR ko' x 1)g" Slots 4 Il Heads of through anchor bolts shall be placed on the traffic side of the rail.
< _ l§ N Distance beftween Post FOR 5/8 " BOLT 12. All steel shapes, rails and plates shall conform fo ASTM A 36 specificafions.
= S +\ ¢ glof;? gnf; gr/;e Rk fof 13. For Details of Terminal Connector, see Sht. Ri-14
- || / | ' o be designated. 4. For Details of Hex Bolt # Nut (FBXI6a), see Sht. RI-I5
|
6//
D)
— ( RAIL SPLICE Reflector Marker (RM-5) -Reflector WExI5 i !
- \  Facing Traffic (Mounted on NOTE: X =
— R -3l Guardrail Bolf). For defails and 4/ Holes are  Structural _ ...
\ / - A 19" 3-175" notes, see Guardrail Details # %" Dia. ape |
L _3/uynlfu s P fBO/f 4/ " 9 Notes sheef. 6" 1/ 1
Post Bolt Slot -34"x2% | SINGLE DOUBLE " .$4%u 5/005;5 /41:}, Wa 2/4 — |
BACKUP PLATE ‘ = l " et
pr— SECTION THRU S e BEIE S T N2
-~ ) l
O T . T O !
RAIL ELEMENT T —— === _ (I VR
(Use af Posts where / n. 2 Min= = I !
Splices do not occur) (RTMO2b) Splice Bolt Slot | ~post Bolt Slot . o ! - PWEO4
——4"x4"x1“9%" Long recycle % x 178" (typ.) 34" x 216" (typ.) - S ||
plastic or wooden blockout TRANSITION SECTION (RWT0ID) o
Thrie-Beam back-up Plate | ! 2 l P
¢ FBBO! (At Posts where | | " Dia. x Yg" | - <) N RASh(E |
Splice Bolt — Splice does not occur) %od. Heavy / Recess both ¥ o I
ex Nuf sides N I
R 1 ; I
C Thrie Beam B0 fell Bol \ | A r Ground || , | i1 f(ound
s & ¢ YPICAL INSTALLATION OF Line — Ine
N ) 6” 2" - “p W‘ = — = N T
S 5 S N Y - A I
T T s P - G cap # e, REFLECTOR MARKER (RM-5) . Ll
:D_____ il };'L‘l -t / 2'/‘_13)(768 " \ ]%” ”/,6// ‘ /8 ! < — 7 ll;
. " 1 L——l |
T 2 Facf Gt TR = % AN ! &l s :
=Ll (see Note 14)| 1 | s 2~ I 5y =y l
5 T PWEG Post |4--4-|——| - s i o & | L Ny §> N SIDE F R(l)l/\/T
= = ST BN IRl . A *~
o I I N o A ! X N 22 LIVIVE
Ground | _ ! I =5 22l PL gaiv)
Line PWBO03 RE Y i B | | after fabrication. \ LRONT VIEW W-BEAM STRONG POST (PWE0O4)
_\ S :: S| & N :: / ’5/176” One (1) @ ea. AB. c?j—@ Cap PL ¢ ho./e —
f’ _é_::_é_ ¥y j_H- A — —@—::—@— | or 17te — i = § DEPARTMENT OF TRANSPORTATION
4 L 3 —l] N & HIGHWAYS DIVISION
ELEVAT ION NS 2 || CESIGNATOR | ) T N . STRONG POST
I © I FBBOI 174" utline of 7 [ [ PROFESSONAL
T I " beveled cap PL o 7260-C. I~
STRONG POST i ! oz | 2 205"typ. THRIE-BEAM GUARDRAIL
- | FRONT ' ‘ SECTION m THS WORK WAS PREPARED BY ME FORT WEAVER ROAD WIDENING
THRIE-BEAM GUARDRAIL GACK =10 ———  GUARDRAIL AEAD BOLTS \EoprE) ), — | VICINITY OF AAWA DRIVE TO GEIGER ROAD
’ | Scale: NTS Date: Sept. 20, 2007

Scale: 6" = I-0"

(SGRO9L) SPACER BLOCK PWB03  ~ jvn RecrsSED NUT CAP (BEARING) PLATE DETAIL

SHEET NoR/-I6 OF 39 SHEETS

! 39




DATE

SURVEY PLOTTED BY

DRAWN BY X

QUANTITIES BY

TRACED BY
CHECKED BY

NOTE BOOK | hpsioNED BY X

PLAN
dax.x
X.dgn

ORIGINAL

Ne.
J:/FORT WEAVER ROAD/ROAD/ET2000.dgn

STANDARD LINE PO$ Tg@

NOTE:

SYSTEM LENGTH = 50-0"

BEAM GUARDRAIL
12 GA x 12-6" LG

BEAM GUARDRAIL
12 GA x 12-6" LG

INSTALL RAIL PARALLEL TO ROADWAY EDGE LINE. a
VHEN TAPER IS REQUIRED BY DESIGN ENGINEER, S ASSEMBLY CABLE PC 30006
A 504 TAPER OVER THE LEN YSTEM IS Y o
A 201 TAFE =N PC 338756 STRUT 3" X
' I | PC 704A CABLE ANCHOR
| |
I I I ; :
1 t r— } T e
\ | \ ' \ I \
PC 96 DEEP | PC 96 DEEP | | PC % DEEP , PC 396 DEEP
| I I |
| | | |

P %

_.Q._____--.... —
-Q—-—-i=+

FED. ROAD
DIST. NO.

STATE

.FEDERAL AID FISCAL | SHEET TOTAL §
PROJ. NO. YEAR NO. SHEETS

HAWAII

HAW.

CMAQ-076-1(9)| 2006 | 40 160

BEAM GUARDRAIL

12 GA x 12-6" LG BEAM GUARDRAIL

12 GA x 12-6" LG 241 172"

0 ® ®

PC 782G BEARING PLATE
GUARDRAIL EXIT SLOT AWAY

FROM TRAFFIC

PC 995A GUARDRAIL EXTRUDER
DO NOT ATTACH RAIL TO POST #

______— TRAFFIC

—— 1

F R O M P 0 ST # 9 6/_ 3// l 6/_ 3” ' 6/_ 3// l 6/_ 3// I I 6/_ 3” l 6/_ 3// 6/__ 3/[
%" dia. x 1%" LG HGR. ! %" dia. x 1lj" LG HGR. | | ! % dia. x 114" 16 HGR. .| | —po NOT ATTACH RAIL T ! %" dia. x 1" 16 HGR. || Il% dia. x 1%" HEX HD BOLT
SPLICE BOLTS # NUTS | | SPLICE BOLTS # NUTS || | | |/ POST BLOCKS @ RAIL | 'SPLICE BOLTS # NUTS || | W/ WASHER, LOCKWASHER
, i % | |}/ SPLICES (AT POSTS #3, | 1% '$ HEX NUT
A~ .
! i L | i S Y
N P ] ‘I} SHLICE BOLTS # NUTS i 1 A i i N | —[_}
P . | ! ! . . | po NoT ATTACH~" ||
N . N RAIL TO POST #2 >
NN il A § NN i i
) [
I I I I | TBOLTS MUST BE INSTALLED | | || |
: ! } y e e ! }
I || i I (I I I I
AFTER FINAL ASSEMBLY,— |
¥ ¥ ¥ X | | PROPER RAIL FIT X | VRECHECK CABLE T0 BE = ! |
I I I ] I N | 1 SURE IT IS TAUT AND :I
NOTES: I I 1 I 1 J Il | | HAS NOT RELAXED. Ll
| A I |l
1J DO NOT ATTACH GUARDRAIL TO POST *# |, N X |
|
2) DO NOT ATTACH GUARDRAIL TO POST BLOCKS AT (UPPER X ol
GUARDRAIL LAP SPLICES. (AT POSTS #3,5 ¢ 7) PG T307aA POSTS (LOWER). ! |
3) THE %" FLAT WASHER IS USED UNDER THE NUT, L 5
BEHIND THE POST ONLY. NO WASHER IS USED
AT THE RAIL
4.) MANUFACTURER SUGGESTS CUSTOMER TO PROVIDE
REFLECTORIZATION OF TERMINAL
_—PC 33872A POST (UPPER) %" dia. x 2" HEX HD BOLT
W6 x 85 - W/ WASHER, LOCKWASHER

RECYCLED PLASTIC
BLOCKOUT OR
OFFSET BLOCK

L
| DETAIL D" A
N
iy PC 33874A POST (LOWER)
W6 x 85
______TRAFFIC .
M T S
gl =
NOTE: 1
SECTION "A-A" IS SIMILAR @ POST #3, 5 ¢ 7. SENTI
EXCEPT RAIL IS NOT ATTACHED. 7 )
D> N NG 4
SECTION "A-A" =0 _

SEE NOTE BELOW

_—(SEE NOTE 3)

%" dia. x 3" HEX HD BOLT
W/ WASHER, LOCKWASHER

TRAFFIC SIDE
UNDER HEX NUT

-

i
PC 338724 POST (WPPER) VN L PC 338724 POST
W6 x 8.5 (UPPER) W6 x 85

AT

%" dia. x 10" LG H.G.R. BOLT
W/ HEX NUT ¢ WASHER

SEE DETAIL "D"

SEE DETAIL “H"

oo

E——

(TYP @ POSTS #4, 6 ¢ 8)

%" dia. x 26" HEX I %" dia. x 2" HEX
HD BOLT W/ WASHER, M /D BOLT W/ WASHER,

LOCKWASHER UNDER | _u M= |OCKWASHER UNDER
HEX NUT HEX NUT

N SECTION "B-B”
VIEW “D-D (POST #2)

UNDER HEX NUT

% dia. x 2 HEX HD BOLT ———FC 33671A POST (UPPER)
]

INSTALL W/ HEAD ON STRUT
SIDE W/ WASHER ¢ LOCKWASHER =
UNDER HEX NUT I

W6 x 8.5

4 g/ 5 ‘:‘iij-; _Kj

PC 338/3A POST (LOWER) | I

VIEW "H-H"

~V‘

DETAIL "H"

\/ ( === %’KF EACH END
PC 338756 STRUT NN

i K=t %" dia. x 2" HEX HD BOLT
W/ WASHER, LOCKWASHER

W6 x 8.5 I UNDER HEX NUT

W6 x 85

DETAIL "K”

(POST #)

PC 7826 BEARING PLATE 8" x %" x 8"

PC3000G CABLE
ASSEMBLY W/ 1"
HEX NUT ¢ WASHER

1L PC 33873A POST (LOWER)

\__/\SEE DETAIL "K*

BILL OF MATERIAL

PC | QrY DESCRIPTION
96 | 3 |12 GA/126"/6'3"/S (GUARDRAIL)
326 | 1 |12 GA/12'6"/6'3"/S ANC (GUARDRAIL) |
704A | 1 | CABLE ANCHOR BRACKET
7826 | 1 |5/8" x 8" x 8" BEARING PLATE
995A | 1 | ET-2000 PLUS EXTRUDER
30006 | 1 |CABLE 34" x 66"
33006 | 6 |5/8" WASHER
33406 | 38 |5/8" HEX NUT
33606 | 32 |5/8" dia. x11/4" SPLICE BOLT
35006 | 6 |5/8" dia. x 10" POST BOLT
37016 | 19 |3/4" WASHER
37046 | 16 |3/4" HEX NUT
37176 | 15 |3/4" dia. x 2 1/2" HEX HD BOLT
37186 | 1 |3/4" dia. x 3" HEX HD BOLT
39006 | 2 |1” WASHER
39106 | 2 |1 HEX NUT
RECYCLED PLASTIC BLOCKOUT OR
368\ 6 | orrsET BLOCK
4254G | 18 | 3/8” WASHER
42556 | 2 |3/8" FENDER WASHERS
42586 | 16 | 3/8" LOCKWASHER
42616 | 2 |3/8" dia. x11/2" HEX HD BOLT
46996 | 16 | 3/4" LOCKWASHER
6321G | 16 |3/8" dia. x 2" HEX HD BOLT
64056 | 18 | 3/8" HEX NUT
33871A | 1 | ET2000 HBA POST # TOP
33872A| 7 | ET2000 HBA POST #2-#8 TOP
33873A| 2 | ET2000 HBA POST #1-#2 BOTTOM
33874A| 6 | ET2000 HBA POST #3-#8 BOTTOM
338756 | 1 |6-6" ANGLE STRUT ET HBA

TRAFFIC SIDE—~_ o1
\: :I
| I'ﬂ'
I
O
| g t”)‘t- LICENSED
\ , by piNo7 PROFESSIONAL
\ J ENGINEER
No. 7269-C

STACK 2-3 WASHERS ON
%" dia. BOLT BETWEEN _
T 1 s
" _ e
OVER %" dia. BOLT HEAD. [EW "K-K

L

OR UNDER MY SUPERVIBION.

THIS WORK WAS PREPARED BY ME

(POST #2)

DEPARTMENT OF TRANSPORTATION

FORT WEAVER ROAD WIDENING

ET-2000 PLUS

STATE OF HAWAI

HIGHWAYS DIVISION

VICINITY OF AAWA DRIVE TO GEIGER ROAD

Scale: NTS

Date: Sepl. 20, 2007

SHEET No. RI-I7 OF 39 SHEETS

40




DATE

BY
TRACED BY
BY

NOTE BOOK | ppgiGNED BY
CHECKED BY

DRAWN

QU

PLAN

ORIGINAL SURVEY PLOTTED BY

No.
J:/FORT WEAVER ROAD/ROAD/THRIEBEAM-BRIDGE.dgn

FED. ROAD | oratE FEDERAL AID FISCAL | SHEET | TOTAL §
DIST. NO. PROJ. NO. YEAR NO. SHEETS

HAWAII | HAW. |CMAQ-076-1(9)| 2006 | 41 160

==t T o _______ 1 of metal guardrail and fransitioned fo

. Curb ¢ Gutter, Type 2AG _ | ‘ © ®
or Type 2AG (Modified) @ |
See Roadway Plans 103"
| | 7% //.: l 8//<
Transition from Curb ¢ Gutter, 316" 9%" Conc. Curb W6X12
Type 2AG or Type 2AG (Modified) — |= - - NOTE: Thrie Beam /|
fo 91" Conc. Curb. Existing C End Post
Top of curb face fo be flush | Xistihg Lonc. tna rrost | [ Wexi5
with guardrail face. Dimensions to be verified in field. T
a See Partial Plan L
L hissht 81"
— 9" Conc. Curb [ o _ ﬁ—h————?l __________________________________________ 1" Radius . .
T - + - - - - ~ | - T S B \ D -Finish
- - | S LT o Tl | orade
— ' e S i eeeis A SR o]
L g 14 | 2-#5 cont—"" |9}f"|
Taper / /1 CUfD
. 20 L |
Thrie Beam Connection Pay Limits (including terminal connector)
- - PLAN SECTION /A N
Scale: 16" = 10" Scale: %I~ 0" \ZI|RHES
©), Ref. guardrail cg/nnecﬁon line and ¢ of 2-73"% Terminal connector — -
thru holes for 2-95"8 x 14" long H.S. anchor L . . / . Joint with
bolts w/ beveled cap plates, nuts, and washers. N\ 26" | I" —(®8), ¢ of 318 thru holes for 3-Jg"% x I"4% 0% Eoft
| | {m— long H.S. anchor bolts w/ beveled cap plaftes, ]
Tl -1-0%"8" nuts, and washers. | - o
Single W-Beam B, ¢ of 2-1"% thru holes for 2-7"% x 143" long ¥ g S© , :%: , ' ‘ I 2l
<<_£_J H.S. anchor bolts w/ beve/ec‘_clap plates, nuts, and washers. P A r> : :‘ e — =~
| 1 | | 1 N S S (N S s R N T B
] 5 5 —— L S L S B D lm;glﬂ;}i‘jy—L \\\\\\\ ey B | g
< il - S : TI e S —— — -r _ . I TI —_ , ﬂ_ T =" _ T HI!HI!IH!INHH!I___S \\\\\\ ' 2 pron g
- T e — - Mr{ /) H.r rT — _.r{' Ti' 3—? hﬁ- ~ %;. nnnumumnu:j< T T - :
3 * T K A K K v, |, : i o UMMM — ¢ T T = —
S‘I | =" e T . Curb to be in line with front face
Yy [0 , | | | | ., HPER 2 1 L.§¢ e penlp
P

match front face of concrefe endpost.

| | . € Thrie Beam |

-10*

PART [AL PLAN

~

< | 6"-3" »L 4 S,DaCeS @ 31"]V2” = 12-6" | : | 4 S/IJaCGS é ]/"63/;]” - Scale: 3/4//=7/_ 0"
T ransition | =6"-3" T N |
| Joint w/ 90%# felf
Balance @ 6-3" / A N —Conc. Curb
RI-18|RI-18 .
| . E xist. Conc. _
End Post
. 12'-6" Double Type 3 Thrie Beam |

250" Type 3 Thrie Beam

i
- STATE OF HAWAI
DEPARTMENT OF TRANSPORTATION

B Thrie Beam Connection Pay Limits (including ferminal connector) _ ElEVATION G T HIGHWAYS DIVISION
Soales 15" = 10 THRIE_BEAM CONNECT [ON
AT_HONQULIULI BRIDGE
s i i e a1 FORT WEAVER ROAD WIDENING
VICINITY OF AAWA DRIVE TO GEIGER ROAD
o Scale: As Shown Date: Sept. 20, 2007

SHEET No. RI-FI8 OF 39 SHEETS

41




DATE

QUANTITIES BY

CHECEED BY

TRACED BY

NOTE BOOK | ppgIGNED BY

DRAWN BY

PLAN

ORIGINAL SURVEY PLOTTED BY

No.

J:/FORT WEAVER ROAD/ROAD/road-detOl.dgn

FED. ROAD | o1 re FEDERAL AID FISCAL | SHEET | TOTAL
DIST. NO. PROJ. NO. YEAR NO. | SHEETS

HAWAIT | HAW. |CMAQ-076-1(9)| 2006 | 42 160

. Single W-Beam __, _ . 50'-0" Double Nested W-Beam >¢I<Sy mmetrical 50-0" Double Nested W-Beam — e Single W-Beam
- 18-9" Clear Span over Cafch Basin %
- 6-3" (Typ.) _ - 6-3" (Typ.) e 9-41" e 9-41%" e 6-3" (Typ.) _ . 6-3" (Typ.)
. Wing . Manhole _ | |
R

- a , R B0/ S S — __ .
Ve | / | < | \ T Exist. GDI to Ea //_ . =t — | - 4 /n«m_h_.__;_*_‘ | "

| PN -+ 4
~ ~ be removed —1~] T all Curb ¥ Gutter, — —{— —
X X X \\%}_ _ A 1/1/_ S _’":f‘ %:::: /M ________ X Ty,De ZDG
N 2 ‘ = Zr=r= T )
+ -+ - \'NS ~ N + AN AN + 1 7 7 £ ,
1 1 | ~ ~~_ .~ ~L Spacer Block; Typ. \ \ T \ \ \ 4
T et G r P | | = |Ac. sidewalk T
v ™~ v TN _ / ' | X
\—Exi.sf. Metal  Double Nested™ B NOTES: L o %g?f?;’l Strong—
Guardrail ¢ Posts | | ————-———-—-—W-Beam Rail< -~~~ 7o S . PwEan)
I to be removed (Typ.) - E lement (RWMO2a) — All Metal Guardrail Posts, Steel Spacer Blocks,
o/ \ 7 Anchor Plates, Anchor Bolts, Nuts and Washers Concrefe
, N 7 shall be Hot-Dipped Galvanized after fabrication. | | Sidewalk
Y Exist. d24 to 2 . _
be removed o y For details of W-Beam, (RWMOZ2a), Guardrail
N Bolts (FBBOI, FBBO3) and offsef Block, See IR PR -
ittt I AL Sht. RI-13 & RI-15.
- — - / / L
— [—Offset Block or Blockout : S / 13 | AN
Guardrail 08, Nore 2 | Nf\)/ﬁ / W6x8.5 -
vardrall —m Qes are X5, ] Scale: I/ . 1-0" o
5 FWEOI %" Dia. Structural __ ][ _. % } 6-3" 6-3
A — . Shape ¢ Rail bolt hole ¢ Rail bolt hole
O 5 5%" 234 y 8-F BBO! (F BB(;VBr o ~RWMOZa
p " | 3 , | 'l ! Splice Bolts see Note |
§ Ol %" 5% ™ <L .ei / (s%éCNofe 2) | / / (see Note 2)
' — 1o o | 1 ihi i
PLAN Al %} SINGLE DOUBLE \——:;z-::.L .: #J, | -}—,,L;:
- iR Q Mk " - : b
RWMO02a — Offset Block or Blockout 5 —<l+ S y ) LSP RWBOIa Lap in direction 7/
-~ PWEO! ¥ | 4" x 21" Post Bolt =~ Top of Gutter of traffic
¢ FBBOI | o Slot (typ.) =
Splice Bolts ) i 1171 So __\ ) :
~ | < | R e \ | — PwEor | B
——-—- =—=={5- d) Ln\to\\ ‘ i N !
™3 . | ] N ELEVATION
So o " Sidewalk e | STRONG POST W-BEAM GUARDRAIL WITH
PWEOT — —t Top of | 1 15/ NIES
i I ] Sidewak il o R (yp) NN CD RECYCLED OFFSET BLOCK OR PLASTIC BLOCKOUT
— | Gutter
Top of T OO '
GU]Lfer b y y % STATE OF HAWAII
I [ /’/: Y/ N ’/2 2 ‘ DEPARTMENT OF TRANSPORTATION
e lela it v / 4 (\'\[\j ; %0\;\) M. U,%; HIGHWAYS DIVISION
| e | @ :fi GUARDRAIL POST DETAIL
ELEVATION i -0 i x/%“ocgv AT STA. 135242+
ﬁ SIDE FRONT " | pestonaror| B ML | FORT WEAVER ROAD WIDENING
‘ — THICKNESS
STRONG POST W-BEAM GUARDRAIL T 2 Gauge | 9 VICINITY OF AAWA DRIVE TO GEIGER ROAD
(SGR0O4a) W-BEAM STRONG POST (PWEOI) _ 11D ; o Scale: As Noted Date: Sept. 20, 2007
W-BEAM BACK-UP-PLATE (RWBOQOIa) : SHEET No_ RI9 OF 30 SHEETS

42




	CMAQ-076-1(9)_036.TIF
	CMAQ-076-1(9)_037.TIF
	CMAQ-076-1(9)_038.TIF
	CMAQ-076-1(9)_039.TIF
	CMAQ-076-1(9)_040.TIF
	CMAQ-076-1(9)_041.TIF
	CMAQ-076-1(9)_042.TIF

